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Chapter 1

Ten Principles of Economics

Test B

NOTE: THE FOLLOWING QUESTION IS REPEATED FROM THE ON-LINE QUIZZES. YOUR STUDENTS MAY HAVE ALREADY SEEN THIS QUESTION AND ITS ANSWER.


.
Scarcity is the result of


a.
an unfair distribution of income.


b.
taxes that are too low.


c.
taxes that are too high.


d.
too few resources to satisfy society’s desires.

ANSWER: d.
too few resources to satisfy society’s desires.
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. 
A good is considered to be scarce in a society when


a. 
firms could be producing more of the good but have decided not to.


b.
the government places a tax on the good in an attempt to lower the demand for it.


c.
everyone in that society cannot have all they want of the good.


d.
only the richest people in the economy can buy all they want of the good.

ANSWER: c.
everyone in that society cannot have all they want of the good.
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. 
Economics is the study of


a.
the government’s role in society.


b.
how society manages its scarce resources.


c.
how to operate a profitable business.


d.
successful stock market investing.

ANSWER: b.
how society manages its scarce resources.
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.
Efficiency is most closely defined by which of the following?


a.
absolute fairness


b.
minimum waste


c.
equal distribution


d.
consumer sovereignty

ANSWER: b.
minimum waste
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.
Economists use the word equity to describe a situation in which


a.
every member of society would have the same income.


b.
benefits of society’s resources are distributed fairly among its members.


c.
society is getting the most it can from its scarce resources.


d.
those in society who have the least will receive the most.

ANSWER: b.
benefits of society’s resources are distributed fairly among its members.
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.
When the government implements such programs as welfare assistance and progressive income tax rates, which of the following is likely to occur?


a.
Equity is increased and efficiency is increased.


b.
Equity is decreased and efficiency is increased.


c.
Equity is increased and efficiency is decreased.


d.
Equity is decreased and efficiency is decreased.

ANSWER: c.
Equity is increased and efficiency is decreased.
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.
Economists use the phrase “There is no such thing as a free lunch,” to illustrate


a.
the concept of inflation.


b.
the concept of tradeoffs.


c.
that people aren’t as generous today as they used to be.


d.
that if something looks too good to be true, it probably is.

ANSWER: b.
the concept of tradeoffs.
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.
Whatever must be given up to obtain an item is the definition of


a.
equity.


b.
an explicit cost.


c.
efficiency.


d.
opportunity cost.

ANSWER: d.
opportunity cost.
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.
When economists refer to people making decisions “at the margin” they mean that people


a.
make decisions only if those decisions do not impose a cost.


b.
evaluate how easily a decision can be reversed if problems arise.


c.
always calculate the dollar costs for each decision.


d.
compare the costs and benefits of each decision.

ANSWER: d.
compare the costs and benefits of each decision.
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.
Which of the following is the best example of a marginal change?


a.
Jayson gets a raise at his part-time job and is now paid $6.75 per hour instead of $6.50.


b.
After graduating college, Megan’s income increases from $500 per month to $3,000 per month.


c.
Due to an increase in the crime rates of a local suburb, housing prices in the area fall by 40%.


d.
A hard freeze wipes out half of the orange crop in Florida and the price of orange juice doubles.

ANSWER: a.
Jayson gets a raise at his part-time job and is now paid $6.75 per hour instead of $6.50.
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.
When economists say that individuals respond to incentives, they mean that


a.
individuals act very quickly when faced with a problem.


b.
individuals respond to positive stimuli, but not to negative stimuli.


c.
if the benefit of an activity increases, people will engage in more of that activity.


d.
once individuals have made a mistake, they will never make the same mistake again.

ANSWER: c.
if the benefit of an activity increases, people will engage in more of that activity.
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.
If Japan decides to trade with Bangladesh, we know that


a.
Bangladesh will be better off, but trading with a less-developed country will not help Japan.


b.
Bangladesh and Japan will both be better off with trade.


c.
it will not benefit Bangladesh because workers in Japan are more productive.


d.
it will not benefit either country because they are too culturally different.

ANSWER: b.
Bangladesh and Japan will both be better off with trade.
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.
Any nation which chooses to engage in trade


a.
will only benefit if it trades with countries that produce goods it cannot produce.


b.
cannot benefit if it trades with less-developed countries.


c.
can benefit by trading with any other country.


d.
should first attempt to produce the good itself.

ANSWER: c.
can benefit by trading with any other country.
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.
In Adam Smith’s book The Wealth of Nations, the “invisible hand” refers to


a.
human kindness.


b.
the free market system.


c.
supernatural beings.


d.
government restrictions.

ANSWER: b.
the free market system.
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.
Profit and self-interest guide the decisions of firms and households in a


a.
command economy.


b.
traditional economy.


c.
market economy.


d.
all of the above

ANSWER: c.
market economy.

TYPE: M KEY1: D SECTION: 2 OBJECTIVE: 7 RANDOM: Y


.
When a market, left on its own, fails to allocate resources efficiently, which of the following has occurred?


a.
government interference


b.
economic meltdown


c.
monopoly power


d.
market failure

ANSWER: d.
market failure
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.
Which of the following would be an example of an externality?


a.
A construction company remodels several run-down, vacant homes in a low-income part of town, improving property values.


b.
Teachers at a local high school have pizza delivered every Friday for lunch.


c.
An elderly couple purchases a hot tub to ease their arthritis.


d.
John buys a tractor to mow his newly purchased 5-acre lot.

ANSWER: a.
A construction company remodels several run-down, vacant homes in a low-income part of town, improving property values.
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.
Market failure can be caused by


a.
market power and supply shocks.


b.
externalities and market power.


c.
government intervention and low consumer demand.


d.
high prices and foreign competition.

ANSWER: b.
externalities and market power.
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.
An example of a firm with market power would be a


a.
video rental store in Dallas.


b.
farmer in Iowa.


c.
gas station in Tallahassee.


d.
cable TV provider in a Kansas City suburb.

ANSWER: d.
cable TV provider in a Kansas City suburb.
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.
The primary determinant of a country’s standard of living is


a.
the ability to reduce foreign competition.


b.
its ability to produce goods and services.


c.
the total supply of money in the economy.


d.
the average age of the country’s labor force.

ANSWER: b.
its ability to produce goods and services
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.
Suppose that the average income of a Brazilian is higher than the average income of a Canadian. You might conclude that


a.
Canadian firms are faced with stricter government regulations than in Brazil.


b.
total income is divided among fewer workers in Brazil than in Canada since Brazil has a smaller labor force than Canada.


c.
productivity in Brazil is higher than in Canada.


d.
Brazil’s climate allows for longer growing seasons and therefore Brazil can produce large quantities of grain.

ANSWER: c.
productivity in Brazil is higher than in Canada.
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.
If the government wanted to enact a policy to increase living standards in the country, it should


a.
increase educational opportunities for workers.


b.
make it more difficult to receive unemployment benefits.


c.
strictly enforce all workplace safety regulations.


d.
prohibit any union from restricting membership.

ANSWER: a.
increase educational opportunities for workers.
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.
In most cases, the cause of high or persistent inflation is


a.
increased government regulations.


b.
higher worker productivity.


c.
growth in the quantity of money.


d.
an increased demand for domestic production.

ANSWER: c.
growth in the quantity of money.
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.
In the 1920s, the quantity of money in Germany was increased. As a result


a.
unemployment increased.


b.
many people in Germany became rich.


c.
Germany experienced hyperinflation.


d.
Germany was able to repay all its foreign debts.

ANSWER: c.
Germany experienced hyperinflation.
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.
According to the Phillips curve


a.
there is no tradeoff between inflation and unemployment.


b.
if inflation increases, so does unemployment.


c.
increases in unemployment are associated with a rise in prices.


d.
there is a short-run tradeoff between inflation and unemployment.

ANSWER: d.
there is a short-run tradeoff between inflation and unemployment.
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�	ANSWER: c. 	if the benefit of an activity increases, people will engage in more of that activity. 
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